ECE 764

Lab 8

In this lab we will use several special RIP commands that we studied in the class. Additional details on these commands are available in your textbook.  Read these sections very carefully before coming to the lab.

· Distance (chapter 13)

· Offset-list (chapter 5)

· Distribute-list (chapter 13)

· Access-list (standard) (appendix B)

Consider the network shown:
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Instructions

· Use the address space 130.10.0.0

· Use 24 bit mask on all the links

· Use RIP version 1 only

· Create two loopbacks, lo0 and lo1 on R6, R3, R4 and R5.

· No broadcasts allowed on the Ethernet segment.

· No routing updates to be sent between R3, R4 and R5

· No routing updates to be sent by R2 to anybody

· Write down (Save to the notepad) the configuration and routing tables of R3, R4, R5 and R2.

Section I Offset-list command

· Use offset-list command only
1) Configure RIP on R6 such that the loopback 0 on R6 is seen by R3 with a hop count of 4, by R4 with a hop count of 5 and by R5 with a hop count of 6.

2) Write down the configuration and routing tables of R6, R3, R4, R5 and R2.

3) Configure RIP on R3, R4 and R5 such that loopback 0 on R6 is seen by R2 with a hop count of 8 and equally load-balances between R3, R4 and R5.

4) Write down the configuration and routing tables of R6, R3, R4, R5 and R2.

5) Configure RIP on R2 such that it sees the loopback 0 on R6 with a hop count of 12. Do not change any configuration on any other routers.

6) Write down the configuration and routing tables of R6, R3, R4, R5 and R2.

Section II Distance and Distribute-list commands
· Do not use offset list command for this section 

· Remove all configurations from Section I.  

1) Configure RIP on R3, R4 and R5, such that

· R3 advertises only its loopback 0, loopback 1, R6’s loopback 0 and R6’s loopback 1 to R2

· R4 advertises only its loopback 0, loopback 1, R6’s loopback 0 and R6’s loopback 1 to R2

· R5 advertises only its loopback 0, loopback 1, R6’s loopback 0 and R6’s loopback 1 to R2

2) Configure RIP on R2 such that

· Loopback 0 of R3 is seen with a distance of 130

· Loopback 0 of R4 is seen with a distance of 140

· Loopback 0 of R5 is seen with a distance of 150

· Loopback 0 of R6 is seen with a distance of 160

· All other routes are seen with a distance of 100

Graded Questions

· Hand in the configuration and routing tables for each section. 

R2





R5





R4





R3





R6





� EMBED Word.Picture.8  ���





� EMBED Word.Picture.8  ���





� EMBED Word.Picture.8  ���





� EMBED Word.Picture.8  ���





� EMBED Word.Picture.8  ���








_978943621.doc



